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T H FEEMH | K | B E %Z (e Bt H FEEH | B AL | & E = fH
Tprpdl ® Ik 200 g 75 64 | HEHDPA FE IR B 10 ke 2, 160 —
LA = B 200 g 108 64 | ST F & 10 ke 4, 860 1,728
T EDRR g 200 g 97 64 || TAHNLE— = B 250 g 248 86
ZOoNAF D = 200 g 86 64 | DD = B 250 g 248 86
FhE St 150 g 75 — || EEE = B 250 g 432 —
LA EL 3 180 g 86 — | 72 Aa = E 9 ke| 12,960 -

— — — — — | TV gE K 15 ke 6, 480 2, 160
A AN B I& 10 ke 1, 404 -
FEEEC A U A ™ 5 10 ke 2, 160 1,728
< W Vi 15 ke 1, 944 1, 080
R G P4 T A 10 ke 1,944 864
L&A o = 10 ke 3, 240 2, 160
I "R 5 ke 1, 728 1,512
AScH & A 5 kg 2, 160 1, 836
k= = A 4 ke 1,728 1, 296
B = A 150 g 108 86
RBIAED FOaRK L 2 ke 2, 592 2, 160
A pI2le (T 9 ke 5, 400 -
Lk FEIR B 10 ke 3, 780 2, 160
mEhRE  E 10 ke 2, 268 1,188
A LW ™ B 100 g 129 86
LH L £ % 100 g 54 43
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At E FEEH | H | & @ % & T g FEEM | B ] " E % &
AE AR K 1 ke 2, 160 972 | WY F ) 1 ke 3, 240 1, 080
mESCAHE K 1 ke 1, 296 1,188 | /|y ST — 1 ke 1, 296 540
7Y £ I 1 ke 1,728 216 | X7 = =0 1 ke 2, 160 1,026
AP 5 I 1 ke 604 324 | AH FOERIL 1 ke 1, 404 —
AT =4 1 ke 507 151 || FVU A k= 1 ke 5, 400 1,188
AN A AT O 1 kg 1,404 907 | BT JLHEE 1# 248 54
&N~ TF T IE 1 ke 1, 728 302
&5 A % IF 1 kg 1,512 216
&&= kI 1 ke 3, 024 2, 700
INE £ 1 ke 1, 620 324

VA, as 1ke 1,782 540

AR (I 1 ke 5, 400 1,836

y "G 1 kg 1, 620 216
=) IR 1 ke 2, 268 1, 296
WA K B 1 ke 1, 836 864




